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Question 12- A person have R form of 20 paise and 50
Y2

paise coins. Total coins ar hen find number of &5 paise

coin.
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Question 13- Two alloys contains tin and 1ron 1s ratio 1:2 and
- 2:3. If they are mixed in ratio 3:4 then find ratio of tin and

T _/,_ iron 1n new alloy.
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Question 14- In two alloys A and B, the ratio of zinc to tin1s 5 : 2 and 3
: 4 respectively. Seven kg of the alloy A and 21 kg of the alloy B are

mixed together to form a new alloy. What will be the ratio of zinc and

tin 1n the new all
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SBI CLERK 2023 (3ITHR &)
Question 15- A person bought two article for Rs 40,000. He sells first
A 3:4 at 10% profit and other at 5% loss. He have 1% profit on whole
B 21 transaction. Then find cost price of first article.
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FEW BASIC TERM AND CONCEPTS ABOUT
TIME AND WORK.
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A. 6.6% j

Question 1- A and B can do a work 1n 12 days and 15 days
U

B.7.77 days E// ——— respectively. In how much time they together complete the
C. 5 days f whole work?
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~ Question 2- A, B and C can do a work in 10 days, 12 days
and 15 days respectively. They start work together but after 2
A.6.66 days days A left the work. In how much time total work was
B.7.77 days completed.
C.5.33days 9% 2- A, B 30 C Tk ol i sher: 10 fem, 12 fem ot 15 e
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A.5.22 days

B.6.22 daye

C.3.22 days
D.7.22 days
E. None of these

SBI CLERK 2023 (3TIIR o )

Question 3- A, B and C can do a work 1n 12 days, 16 days
and 24 days. They start work together but A left 2 days

before complet@he work. In how much time total work

was completed.
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SBI CLERK 2023 (3TIIR o )

Question 4- A and B can do a work in 12 days and 15 days
ABQS respectively. They start work one day each on alternatively.

B.8, 13 1- In how much time 60% work will be completed.

C.8,12 11- In how much time total work will be completed.

D.7,12 UL 4- A 3R B Ueh &1 ol shAT: 12 fo 3t 15 o7 3 st "o
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A.10 days

B.12 days—"
C. 15 days

D.20 days

E. None of these
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Question 5- A and B together can complete a particular task
in 8 days. If A alone can complete the same task in 24 days.

How many days will B take to complete the task 1f he works

alone?
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0 (AR)X8 = AxRH=D wark
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A.5 days

B. 7 days

C.9 days

D.6 dayse—

E. None of these

SBI CLERK 2023 (3MTYTR o )

Question 6- 6 men can complete a piece of work 1in 10 days,
whereas 10 boys alone take 15 days to complete the same
piece of work. How many days will 6 men and 10 boys
together take to complete the piece of work?
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Question 7- A can do a piece of work 1n 30 days and B 1n 20

days. They work together for 8 days and then both leave the

A.10 days
B.12 day5/ work. Then C alone finishes the remaining work in 4 days. In
C. 15 days how many days will C finish the full work ?
D.20 days T 7- A Ueh &1 ot 30 fami & 3R B 20 fai O s+ gehar 21 9 8
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Question 8- A and B together can do a work 1n 20 days, B and
C 1n 30 days, C and A in 40 days. In how much time A alone
can do th@
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—
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Question 10- A contractor takes a contract fi 0‘ and

employe After 60 days he observes that only one

fourth work has been completed. How many more men are

required to complete the work on time.
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A. 180,80
B. 180,12
C. 100,80
D. 40,60
E. None of these
i)
s 1
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Question 11- A 1s twice as fast as B, and B is one-third as fast

as C. If together they can complete work in 60 days, in how

many days can A, C can do the work respectively?
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\}3/ Question 12- P is three times as fast as Q and 1s able to complete the

~
%/ i /< work 11Y60 days less than Q. Then the time in which they can complete

the worktogether 1s
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